









$\forall a_i, b_j - a_j b_i : a_i - a_j$

$(5-3) \cdot 20 : 4-2$   
 $(6-2) \cdot 10 : 4-2$

$(7-3) \cdot 4 : 12-4$

$(7-5) \cdot 12 : 12-2$

$(4-3) \cdot 2 : 4-2$

$(8-4) \cdot 4 : 12-4$

$(8-3) \cdot 2 : 12-2$

$(b_j - b_i) \cdot a_i : a_i - a_j$

$b_j - b_i : e - e$

$a_i = ed$   
 $a_j = ed$

$(b_j - b_i) \cdot a_j : a_i - a_j$

$a_i b_j - a_i b_i + a_i b_i - a_i b_j = a_i b_j - a_i b_i$

$(b_1 - b_2) \cdot a_1 : a_1 - a_2$

$(b_2 - b_3) \cdot a_2 : a_2 - a_3$

$(b_1 - b_2) \cdot a_2 : a_1 - a_2$

$(b_1 - b_2) \cdot a_3 : a_2 - a_3$

$(b_2 - b_3) \cdot a_1 : a_1 - a_3$

$(b_1 - b_2) \cdot a_2 : a_1 - a_2$

$a(b_1 - b_2 + b_3)$

$a_2(b_1 - b_3) : a_1 - a_3$

$a_3(b_1 - b_3) : a_1 - a_3$

$a(b_1 - b_3) : a_1 - a_3$

$a_3(b_1 - b_3) = k(a_1 - a_2) + k(a_2 - a_3)$

$a_1(b_1 - b_2) : a_1 - a_2$

$a_1(b_1 - b_3) : a_1 - a_3$

$a_1 b_1 - a_1 b_2 : a_1 - a_2$

$a_1 b_1 = a_1 b_2$

$a_1 b_1 = a_1 b_3$

$a_1 b_1 = a_1 b_3$

$a_1 b_1 = a_1 b_3$

$a_1 b_1 = a_1 b_3$

$a_1 b_1 - a_1 b_2 = k a_1 - k a_2$

$a_1(b_1 - k) = a_1 b_2 - k a_2$

$(b_2 - b_1) a_1 : a_1 - a_2$

$(b_3 - b_1) a_1 : a_1 - a_3$

$(b_2 - b_3) a_1 : a_1 - a_3$

$b_1 - b_2 = k - k a_1$

$b_1 - b_2 = k \frac{a_1 - a_2}{a_2}$

$b_1 - b_2 = k \frac{a_1 - a_2}{a_2}$

$b_1 = b_2$

$8 \cdot 5 = 6$

$8 \cdot 5 = 6$

$8 \cdot 5 = 6$

$b_1 - b_2 = a_1 - a_2$

$7 \cdot 5 = 7$

$7 \cdot 4$

$93 - x$

$x + 2 + 95x$

